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ill Semester B.Com. Exami nation, March/A pril 2O22

Paper - 3.6

Time : 3 Hours

(CBCS) (R) (2015-16 and Onwards)

COMMERCE

: Quantitative Analysis for Business Decisions - ll

lnstruction : Answer should be completely either in English or ii

Kannada.

SECTION - A

Answer any five of the following sub-questions. Each sub-question carries
two marks : (5x2=10)

1. a) What is positive correlation ?

b) State the components of time series.

c) State the methods of non-probability sampling.

d) Expand (Y - 1)u = 0.

e) What is Interpolation ?

f) What are the regression lines ?

g) lf bxy = -0.36, byx = - 1.38 obtain r.

Max. Marks : 70

P.T.O.
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SECTION - B
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Answer any three of the foflowing questions. Each carries six marks : (3x6=1g)
' 

1ffi"":ifi'J;fol,i1l;i,l,",i""l1l:'"ck barls Find the probability or sening
3. You are given the foffowing data :

cafculate the regression fine X on y and afso cafcurate X when y = gg.
Estimate the missing value of production.

t 
'::T:i:#r#tXH:::t correration rrom the rorlowins Ranks siven by 2 judges

6' A man wants to check the inventory records against the physical inventoriesby a sampfe survey' Permitted oeviation inlind standard deviation is 3g.4.Find the sampfe size, if the confidence fevel is g0%. (Vafue of confidenceco-etficient 90% = 1.64)

Correlation

Production (in OOOETGi
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SECTION * C
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Answer any three of the following questions. Each carries fourteen marks : (3x14=e42)

7. of fathers and iven belowThe heights (in inches) of a group of fathers and sons are ven
Heights of Father 71 68 66 67 7A 71 70 73 72 65 66 68
Heiqhts of sons 69 64 65 63 65 62 65 64 66 69 62 66

Find the lines of regression and estimate the height of son when the height of
father is 69 inches.

8. Given below are the figures of production (tons) of a sugar factory.

Year 2014 2015 201 6 2017 2018 2019
Production (tons) 150 154 176 188 190 198

a) Fit a straight line by'least squares' method.

b) Show the actual and trend line on a graph sheet.

c) Estimate the production for the year 2022.

The following are the annual premium charged by an insurance company for

a policy of Rs. 1,000. Estimate the premium payable at the age of 26by using

Newton's method.

Age (in years) 20 25 30 35 40
Premium (for Rs. 1000 policy) 23 26 30 35 42

10. Estimate the production for the year 2004 and 2006 with the help of the following

data using binomial expansion method.

Year 2001 2002 2003 2004 2005 2006 2007
Production (in '000 tons) 200 220 260 ? 350 ? 430

9.
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11. From the following data on six cities, calculate the co-efficient of correlation
between density of population and death rate.

City A B c D E F
Density of population 200 500 400 700 600 300
P,'opulation ('000) 30 90 40 42 72 24
No. of deaths 300 1440 560 840 1224 312

eda u{g
A?trorl - o

olndunddo autr wd-$dnrled erudorr. $e wd-ddnd odatr erodrlsb :

1. a) do{d dd douof aoddeab ?

b) ddbo$ ddsdo$ uodddeeea.

c) doqjdpeoJ:d €e.r_d dndooo aflrldeee*.

d) (Y-1)u=0CId6:r

e) qop,so6{peeJedo" oodded> ?

f) &ozde.rdo$ deejrldoddeib ?

g) bxy - -0.30, byx - - 1.98 edd r dod:&aobo.

A?,rdrl - ?)

oln$coddro $racb €,d4rlpri e,rudotu. $eobodl dd.rl eg$ eroErf$b :

(5x2=10)

(3x6=18)

2. r"oub d[drloJD s Ee, 4 dod aorto g d{ugd emerrleid>n doo6d. r.oc$ ?,Doobo_
?leob sqnD d{uqd DEer$n doddrlobd nogdOeo*r-d oq?
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3. d$ri d$nd addif9dl &edenDd :
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X dreeJ Y d boz3sdoJ: i&reddeaddo, dod;baobo. aarioS:e Y = 88
ot

X d siero$Q dodrbao$o.

4. radobfldrd erusoddod: diEelrdnbo erocodtu :

ddr 2010 2011 2012 2013 2014 2015
eruuodd ('000 sN6rlgOJ 320 300 2 280 278 250

5. $odo$r {drolcO_ 2 8e$rrnddl Oeadld $erdod:dlerdrno:r $eed ndnouofid$n

dSdod dDb.gobod dod:bGobo.

9edrrmdo 3 7 1 5 2 6 8 4
SedrmdD 5 6 3 I 1 4 7 2

6. nchbrlg oaaDeJ ub4 qg,drgd Bd$rl$ d&d doe8od> dDdo Ooedd dnder er8$ild

eribd>8 t5 Oarder.g$d:39.4 dld> doard ab0190%. egdd dDdoo$ uuodd$n

dodr&6o0ro. (dor,cfoJc idrbeod 90% = 1.64)

e:AdJorl,

rdd x Y
47 96

aqd 64 81

X d>Q YrlS ddrad Bd Bouofi Bdri:ead 0.36
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ojndlcnddro $Jo$ €,d4i19ri erudoxr. {,oo3oodl 6dod daFae))r erodrl$ : (3x14=421

T.dsridoqd)ddoddJ4d)ddddgd(qo?$rtdoJaodbodelddea3rldd:odod>baoFo'

dodo$ add 69 "aoulr qqrl $rld a$d a{oub erooa8&'

B.dsdodadddidodraarordod;wu'odd([3so)rlmn$qd'

a) dO{drlr aqnddO-t'odr ded deaJoJ: dd,9SQ dooOtuo'

b) 06aEd oarLo 4d-,9 dsorrlddl deero df,o$O-lbdrgtu'

c) 2022de d,.urd wuoddoJ:d:n eocndrr'

g. do. 1,000 d9 a-oorrri adJa dodooorod DQssDfud aroard '1'ealobod odd

dddodo9d. 26 de dod:1dO-dt^1a3euad '!,earo3:odt'". d"tuqd eq?daod eocIED3)

dtr6o.

gDoCS (wofrlsoJ

do$r*(ddrrleoJ

egSaloOo (d,0. 1000 mOrrd)
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10. €s dsdod eto8-esoddd Boaaj:aod af doetuo$ef aQaddd] erd>io:r 2004 euario

2006 d eruooddo$$4 co6"d$o.

ddr 2001 2002 2003 2004 2005 2006 2007

wao.dd ('000 ulF6rl9OJ 200 220 260 ? 350 ? 430

dgri doq&d dDb.gobod 'agdFro6d' d)d? 'd>deo 
{i,dneo'fo ed)d idiouod

idii:eadddr dodlbaouo.
ot

11.


